Simplifying Expressions

1= A+ 1 =22

S5—2au+1—u+tu

X2+ 2—146x>—4x?

Bu—4—141—4uy

3y  +uy —u~+3y+5Suy

6.

10.

Simplify each expression.

3V 4+ 6z4+4—vz+vz

Ay =y 6y 1

6+ 2au+ 6a’> + 1+ 4dau

—14+3x+ 3>+ x>+ 6x°

—1—-1-3+4cy—cy
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Simplifying Expressions Answers

Simplify each expression.

L=l —x*+4x+1—x° 6. 3v* +67+4 —vz4vz
= —2x" +4x =3y’ 6744

2. 5—2au+1—u+u 7.4y —y+y* +6y* — 1
= —2au—+6 :11y2_y_1

3. —x 2 — 14+ 6x% — 4x? 2

' ’ 8. 64 2au+6a”+1+4au
=x"+1 = 6au+6a° +7

4. 3u—4—141—4uy

— _Auy+3u—4 9. —1+43x+3x% +x° 4 6x°

= 10x*+3x—1
5. 3y° 4 uy — u+ 3y + Suy 10. =1 —1—3+4cy—cy
= 3y? + 6uy — u+ 3y =3cy—35
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